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Note : Answer the questions as per instructions given for 

each section. 

SECTION - A 

Long Answer Questions 

Answer any two questions from this section 

(in about 500 words each) : 	 2x20=40 

1. Point out some of the characteristics which you 20 

think describe India as an underdeveloped 

country. List out factors, given by Leibenstein, 

which are no longer true of India. 

2. How does a capitalistic Market economy 20 

functions ? Point out the characteristics of 

capitatism. 

3. Discuss the important objectives assigned to the 20 

public sector in India. Point out the main defects 

of public sector in India. 
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4. 	Explain the contribution of IT sector to GDP of 20 
India. To what extent does the IT sector 

generates employment ? Comment. 
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SECTION-B 
Medium Answer Questions 

Attempt any three questions from this section. 
(in about 250 words each) : 	 3x10=30 

5. Discuss the steps involved in the process of 	10 
decentralised planning. 

6. Write a note on functions of world Bank. 	10 

7. Discuss the various issues encountered in the 10 
development of dynamic Private Sector in India. 

8. What are the capitalistic features in Japanese 10 

economy ? 

9. Write a note on strategy of the 11th Five Year 10 
Plan. 
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SECTION-C 
Short Answer Questions 

Answer all the questions from this section 
(in about 100 words each) : 	 3x5=15 

10. Distinguish between any three pairs of the 
following : 
(a) How do Fei and Rains distinguish between 	5 

redundant labour and surplus labour ? 
(b) Mention the main features of Finance 	5 

Capitalism and Monopoly Capitalism. 
(c) Role of Public Sector and Private Sector in 	5 

India. 
(d) What is ernet and nicnet ? 	 5 
(e) Differentiate between fixed exchange rate 	5 

and floating exchange rate. 

11. Attempt any three of the following : 	3x5=15 
(a) Law of diminishing returns. 	 5 
(b) Capitalism. 	 5 
(c) Public Private Partnership. 	 5 
(d) Uruguay Round 	 5 
(e) E-Banking 	 5 
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